
Formule Ford 1600 Cup 1998

          
-1- Dijon   -2- Dijon 2   -3- Varano   -4- Lédenon   -5- Lédenon 2   -6- Dijon 3   -7- Dijon 4   -8- Hockenheim
-9- Lignières   -10- Hockenheim 2

 -1-      -2-     -3-     -4-      -5-     -6-     -7-     -8-      -9-    -10-

1. David GENOUD Van Diemen RF90 20.0   20.0   17.0* 20.0   20.0   20.0   20.0     8.0* 20.0     0.0   = 140.0
2. Leo KISTLER Van Diemen RF90 17.0     8.0* 20.0   17.0   14.0*   0.0   14.0   20.0   14.0   20.0   = 122.0
3. Laurent BEYELER Van Diemen RF91 11.0* 17.0   11.0* 14.0   17.0     8.0* 17.0   17.0   17.0   14.0   = 113.0
4. Zdravko ORESKOVIC Faster AF89 14.0   14.0     4.0*   6.0   11.0   17.0     0.0   14.0     8.0     0.0   =   84.0
5. Horst MÜLLER – (D) Van Diemen RF90   6.0     6.0     0.0     0.0     0.0     -.-     11.0     6.0     -.-    11.0   =   49.0
6. Stéphane MATHEY Van Diemen RF90   8.0   11.0     8.0     8.0     0.0   11.0     0.0     0.0     0.0     0.0   =   46.0
7. Fredi HUG Van Diemen RF91   0.0     0.0   14.0     0.0     0.0     0.0     0.0     0.0     0.0   17.0   =   31.0
8. Gerd BEISEL – (D) Van Diemen RF81    -.-      -.-      -.-      0.0     0.0      -.-     8.0      -.-      -.-      8.0   =   26.0
9. Klaus RUF – (D) Van Diemen RF82    -.-      -.-      3.0     0.0     0.0     0.0     0.0     -.-      -.-      6.0   =   22.0
10. Eric MICHELOUD Van Diemen RF92   0.0     0.0     0.0     0.0     0.0   14.0     0.0     4.0     0.0     0.0   =   18.0
11. Fabien STRICKLER Van Diemen RF91   0.0     0.0     6.0     0.0     0.0     0.0     0.0     0.0   11.0     0.0   =   17.0
12. Fabio MAIMONE Faster AF91   0.0     0.0     0.0   11.0     0.0     0.0     0.0     0.0     0.0     0.0   =   11.0

Sassana SCHUMACHER Van Diemen RF91    -.-      -.-      2.0     0.0     0.0     -.-      -.-      0.0      -.-      -.-    =   11.0
Harry FRANZ – (D) Van Diemen RF91   0.0     0.0     0.0     0.0     0.0     0.0     0.0   11.0     0.0     0.0   =   11.0

15. Philipp SCHULER Van Diemen RF80   0.0     0.0     0.0     0.0     0.0     0.0     0.0     2.0     0.0     0.0   =     2.0


